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If a solution of MgClis % M, what will its
concentration be if it is diluted by 13%?

Express your answer as a fraction.

If there are nine milion yeast cells per
mililiter of growth medium in an
experiment, how many will there be in
two days when the cell population has
quadrupled and then quadrupled
again? Express your answer using
scientific notation.

Whoozits are weird. They can be
broken intfo any fractional part desired
and then later be reassembled without
harm. Sometimes even fractional parts
of whoozits are shipped around the
country to be assembled with other
fractional parts to make new whole
whoozits. SLUGCO had 38.055
whoorzits they needed to ship to
Timbuktu. Someone decided the
easiest way to do it would be to put
the same amount of whoorzits in each
box. If they had fifteen boxes, how
many whoozits would go in each box?

The Floop family went to a hockey
game last weekend. They spent $17 on
food, $38 on souvenirs, and $16 on
drinks. What fraction of their
expenditures was spent on drinks?

If lava flows out of Mount Gustaffson
at a rate of 45 cubic meters per day,
how much lava will have flowed out
aofter 3 weeks?

Jessica is very competitive. She always
makes it her goal to beat everyone
else's race time by at least four
percent. She had a great race this
week (she won) and met her goal. If
the person who came in second had a
time of 1 hour and 38 minutes, what
would have been the slowest fime
Jessica could have run the race?
Round your answer to the nearest
minute.
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go in 30 minutes?

p
Leeka has invented a new space vehicle to go from his home planet of Zomba to his

friend's planet of Oomba. It is a fun ride! It can fly at a speed of 900 mph. How far will it

N

\. J
r 4 h
29 75 17
x 4 x 32 x 16
.
f " How many centimeters in f
6, -, 10, 12, 1L|', 16, 540.7 meters? D, G, E, H, - I,
18, 20 G J HK
\. \. J
1lb =16 oz
6x8 = 3137 -1321 = b = o7
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In art class the teacher asked the class to make a rectangle.

"How big?" asked Erin.

Mrs. Walker is not just the art teacher, but she is also the math teacher. She loves to talk
numbers! "Well," she started. "I don't want to give you the exact size, but the ratio of the
height to width of your drawing should be U to 3. And please don't do 4 inches to 3 inches.
I've dlready done that!”

Erin wants to draw the rectangle. She wants to use as much of her 22 % by 6 paper as

possible. What size should she draw the rectangle?

36+9+1 How many centimeters in Estimate quickly the
8.9 meters? difference.
5070 - 2,580

It was 83 degrees outside.

/.29 72972 9| EKGNI ___ K| | Whatwoud the

temperature be if it got 17
/7,29 — 2 .M W degrees colder?

word root cor can mean with or together corrupt, corruption
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Kevin made cookies for Wendy is drawing a Kevin reads very fast.
mural of the night sky Sometimes he isn't sure

Remembrance Day. He on black poster board what he has read, he

1 with white chalk. If she reads so fast. He can

made 2 —- dozen uses up a stick of chalk read 5.7 pages in 0.15

chocolate cookies, 1 dozen at the rate of one stick hours. How many pages
every eight minutes, can he read in 2 hours?

peanut cookies, and —- and she works on her

mural from 8:54 a.m.

q tmeal cookies. If
ozen odimeal cookies until 9:58 am., how

he puts the same number many sticks of chalk will
?
of each cookie in each bag she use:
and has no cookies left over,
what is the largest number
of bags he can fill?
What number is halfway Circle the smallest number:
between 6 and H7? 5903 331 =
7.529,816,340
61427845
678,293,105
Anne rolis a die. What is the
chance of her roling a 1? 4Q0 108 + 12 = 28
+ 405 - 15

How many yards are in 9 feet?

33+11=

8x2-=

yards

Qkm= _________m 1,539 - 91,322 =
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What number is halfway

between 8 and 197 o= b =

80+ 8= 4
+ 4

3
9

The boys in your class each
were given a ticket with a 310 = 2x1l=
number on it. The numbers — -
given out were: 17, 38, 32, 36,
25,4, 114,15, 37, 6, and 29.
One ficket will be picked from
a hat. What are the chances
that the winning ticket
number is divisible by 6?

=90
- N
—_

Jacob took three numbers greater than 1
and multiplied them. One number was Ox8 = 3x12=
three and the other number was ten. Of —
course, he forgot the last number, but he
remembered the product was 131. Is this
possible?

Holly and Amanda are playing a number game.
5x3 = Holly says 25. Amanda replies that the answer is 5.
Holly says 4. Amanda replies that the answer is 2.

Holly says 16. Amanda replies that the answer is 4.
Holly says 36. Amanda is thinking. What number
should Amanda reply with?
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43592 - 31667 = 28x7=_____ | 10x2=
Sarah and her little sister, Rose, both have
birthdays on the same day. Sarah is fiffeen bxb =

years old. Rose is ten years old. Did you know
that Sarah was once double the age of Rose?
How many years ago was that?

Which is the better buy? Five
_ bags of candy for $45 or _
Ix0= ——— | seven bags of candy for $56? SxH=

8x12=

Fill in the missing operations to complete
this equation: 962 - 855 =

20 10 8=10

Write 555,235 in words.

Can 623 be evenly divided by 97 Circle:
623 is NOT evenly divisible by 9 5x12 =
623 is evenly divisible by 9

word root miss can mean let go or send admission, emissary, intermission
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6 e 6 o

30—01090700010002.+0=o2o()o7o+o=o1

Use the pieces above to help you fill in the runaway math puzzle.

7 4= “T0
0
8l -12]|= 3 = 4 n
9 + 4
6 8 +
+]6|=]2[5]-]09 = 1
0 5 + 4 =
= - 2 [+ ]2+ 6
2 5 7 = 7
8|=|1
0] = 41+]6]= 0

Maria is older than April. Maria is older
than Mary. Who's the youngest?

Write this as a number in standard form.
Use a comma in your number.

four hundred twenty-three thousand,
eight hundred forty-nine

82,733 - 32,/42 =

2x10=_____ | 24+3=

Connor has three dimes, three pennies,
and one quarter. He also has one other
coin that is different from the rest of his
coins. How much could he have?
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The newspaper listed the daily high and low temperatures for four cities (Singapore,
Anchorage, Los Angeles, and Lagos). The high tfemperatures were negative nine degrees
Celsius, twenty-one degrees Celsius, twenty-nine degrees Celsius, and thirty-two degrees
Celsius. The low temperatures were seventeen degrees Celsius, twenty-seven degrees
Celsius, negative fourteen degrees Celsius, and eighteen degrees Celsius.

Figure out the high and low temperatures for each city.

1. Singapore’s high temperature was not thirty-two degrees Celsius.

2. The difference between Los Angeles’ high and low temperatures was four degrees
Celsius.

3. The difference between Anchorage'’s high and low temperatures was five degrees

Celsius.
4. Los Angeles’ low temperature was not twenty-seven degrees Celsius.
5. Anchorage had the lowest low temperature of the day.
6. Lagos' high temperature of the day was warmer than twenty-one degrees Celsius.
/. Lagos' low temperature of the day was thirty-two degrees Celsius warmer than
Anchorage’s low temperature of the day.
Singapore had a high temperature of and a low temperature of
Anchorage had a high temperature of and a low temperature of
Los Angeles had a high temperatureof ___ and a low temperature of
Lagos had a high tfemperature of and a low temperature of

For 68,237,132,372433, write
the digit that is in the hundred
thousands place.

55+ 5 =



https://www.mathworksheets.com

MathWorksheets.com

Week of April 24

Name:

" On anumber line, whatis | [2-4-2= " On a number line, whatis |
the number that is 5 to the the number that is 3 spaces
left of 1? right of -1?

\
" What is the number that is f
Rewrite 4 - 7 Y less than 2? 7+-4=___
=+ =
7-4=___
\
- f " On a number line, what is |
Rewrite 7 - 4 n-2=__ the number that is 9 to the
left of 4?
=+ =
M+-2=___

\_ \

" On a number line, what is ‘y_3-2-= [
the number that is 6 7-2=__
spaces right of -3?

7+-2=___

\_

" What is the number that is f
9 less than 3? 8-12=__ Rewrite 16 - 1

=+ =
B8+-12=___
\ J \ _J
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"13+x=U9

\.

" What is the greatest
common factor of 6, 18,
and 33?

.

" What is the least common
multiple of 2 and 5?

J \

" What is the least common
multiple of 3 and 4?

" What is the least common
multiple of 4 and 6?

" What is the least common
multiple of 5, 29, and 34?

\.

~ —
x-5=2
What is the value of x?

" Is the least common
multiple of 4 and 10 smaller,
equal to, or greater than
the greatest common
factor of 4 and 10?

\

" Write all the factors for the |
number 8.

\

M-m=2

" What is the least common
multiple of 12 and 157

" What is the greatest
common factor of 9, 30,
and 45?
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r )
Circle all of the numbers that are greater than 4.6.

42 M B 108
7 2 Y 24
24 43 9 i
5 4 3 3
9 232 9 5
5 48 2 2
4010 4090 49 490
N\ J

Write each as a decimal.

Q6% as a decimal is
3 hundredths as a decimal is
-5 as a decimal is

25.8% as a decimal is
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N
Solve for the unknown value. Hint: It is a positive whole number.

122=99 z=___
g+53=102 g=___
3b+g=65 g=___
30+m=72 m=____
Im=132 m-=

7

Max took a big bowl from the kitchen to see what kind of fun party mix he could create.

He added 2 % cups of Goldfish crackers, % cup of pretzels, and % cup of Cheerios.

How much food is now in the bowl?
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This puzzle has a large number in the middle, whichis the sum of the four numbers that surround it.
Example: Example:
09+286+96+32=423 58+ 9.6+ 23+ 14 = 321

T

09 U2.3 1286 399 58| 321 |96

is the sum is the sum is the sum
L 32 —L —L Y J

Fillin the missing numbers. How? The sum of the four surrounding numbers is in the center of each square.
Exactly one of the four numbers has to be one of these numbers: 28.6, 144, or 21.2.

The other three numbers have to all be DIFFERENT and must be from these: 3.2, 2.3,
0.9, 4.6, 9.6, or 5.8.

T T T

6| 364 [us| 234 [ms] 234 [23] 36M4

either 4 or 28.6 less than 3.2
greater than 0.9 less than 5.8 even

45.1 37.3 39.9

even greater|than 0.9 greater|than 4.6
greater than 3.2 even

42.3

less ﬂ“on 32 less ’rjon 96 less Thrn 28.6 j \
28.6

either 2.3 or 0.9 od even

Sameple:
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Fillin the missing numbers. How? The sum of the four surrounding numbers is in the center of each square.
Exactly one of the four numbers has to be one of these numbers: 22.1, 16.2, or 19.5.

The other three numbers have to all be DIFFERENT and must be from these: 7.6, 4.8,
54, 6.2,14, 2.2, or 8.5.

221 16.2 7.6
‘ ‘ less than 6.2

su| 365 || 286 62| U0.7 |22

%

el

—

less tHan 22.1 opd
i— 7.6 4.8 +
either 4.8 or 14 even even
95| 355 28.6 30.8 355
less tHan 22.1 evyen greater|than 54 eyen

=],

| less than 19.5 odd either 19.5 or 14
31.9 35.9 33.3 38.1
greaterjthan 6.2  greater|than 2.2 even less thian 16.2
odd less than 8.5 either 54 or 19.5| greater than 2.2
35.9 314 35.4 37.3
greaterjthan 22  greater|than 6.2 even opd less than 22.1

EH

either 221 or 54 less than 16.2 even either 54 or 22.1

4.3 27.8

opd less ﬂ:|on 8.5 greater|than 2.2 either 14 or 221 eyen

less than 16.2 even greater than 4.8 odd

.

.
F
1o
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Fillin each box of the edHelperKu puzzle, using the numbers from 1to 6.
Every row must contain the numbers 1,2, 3,4, 5, and 6.
Every column must contain the numbers 1, 2, 3,4, 5, and 6.
In a cage with a plus sign, the given number will be the sum of all the digits in the cage.

In a cage with a subtraction sign, the given number will be the difference. The largest number
will always be the box with the clue.

Fill in the blanks. These equations are from the puzzle above.

b +

1- 16+ 13+

- -
5
13+ Y- 3
6

5- 2- 2-
3 b6 18+

3+ 9+

1

9
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18
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Where can
I get more of this
great stuff?

More things for

IS ) the classroom!

More
science\.
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L("Dr. Programmer” a2+,

: ! X - challenges kids..
Kids want choices — ge

for homework.
“Take It Home” books
have fun graphics and
challenging puzzles and
problems for older kids.

1 -y

Homewark
will never be L
ihe samel 1A




